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The figures in the margin indicate
full marks for the questions.

Answer any five questions.

1. (a) What do you mean by image space ?

() Write the rotational matrix with rotation
-30°.

(c) If the uniform scaling is applied on
equilateral triangle, the resultant
triangle become...... (equilateral,
isosceles, circle, cannot predict).

(d) Find reflection point of (5,0) with
respect to line y = x.
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7. Write the notes on: 4x5
(a) Boundary Filling Algorithm
(b) Z-buffer Algorithm.
(c) Pfojectjon

(d) Computer animation.
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